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The IPV6 protocol provides: )
a. 128 bits address b. 256 bits address

¢. Unique, numerical [P address d. All of these

The _isa function in data link layer.

a. Congestion control b. Routing

c. Framing d. Noiseless channel control
The reduces the number of collisions to half.

a. Pure ALOHA b. SLOTTED ALOHA

c. ALOHA d. Token Bus

The is the process of detecting and correcting data frames that are
corrupted or lost during transmission.

a. Congestion control algorithms b. Routing

c. Error control techniques d. Gateways

The binary notation & dotted decimal notation methods are used in:
a. IPv4 b. IPv6

c. Botha,b d. None of the above

In Selective Repeat ARQ sliding window, if m is the number of bits for the sequence
number, then the size of the send and receive window must less than or equal to

a. 2m-] b. One half of 2m

c. 2m-l d. 2m+2

The is a critical process initiated after the deadlock is detected.
a. Deadlock prevention b. Deadlock recovery

¢. Deadlock avoidance d. All of the above

The__ isaclient/server application, initiated by the client, which sends a
request message to a known remote server to execute a specified procedure with
supplied parameters.

a. Network file system b. Remote login

¢. Cryptography d. Remote procedure call

In — . mathematical technique, it is used to validate the authenticity and
integrity of a digital document, message or software,

a. Symmetric key b. Asymmetric key

¢. Digital signature d. Public key

The_______is the ability of users to access a device or a network from any location.
a. Network file system b. Remote login

c. Telnet d. Remote procedure call

ifhesete. = is a push protocol and is used to send the mail.

a. DNS b. FTP

¢. SMTP d. HTTP
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How a client/server model can create a me
o establish a session on the remote ma
applications? Explain all the protoc

a) What are the functions of Physical La
b) Differentiate between guided and ungu
c) Write down the techniques used for

a) Explain the MAC Sublayer and how it is 1
Model. =S
b) How the functions of MAC Sublayer help

a) Why Error Control Techniques are used?
b) Explain the types of error control tec

Explain the advantages and disadvantagy
Write down the similarities between T

selects one path by preferring it over othe'rs"i :
write down its types along with diagram.

Write short notes on: "
a) RPC .
b) Digital certificate

a) What is framing? Differentiate between |
b) Explain how the send sliding wind
Ssize=2m-1.
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